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1. In a level term policy, which of the following remains
constant throughout the term?
A. The premium and the coverage amount
B. The premium but not the coverage amount
C. The coverage amount but not the premium
D. Neither the premium nor the coverage amount

2. Which of the following is a requirement for a valid
contract?
A. Mutual discord
B. Offer and acceptance
C. Financial interest
D. Reputational trust

3. What will the contingent beneficiary receive if the primary
beneficiary predeceases the insured?
A. Nothing
B. Only funeral expenses
C. The policy proceeds
D. A portion of the cash value

4. Experience rating is primarily intended for which type of
groups?
A. Small groups
B. Non-profit organizations
C. Large groups
D. Individual policies

5. Which of the following is primarily responsible for the
cause of loss?
A. Exposure
B. Peril
C. Hazard
D. Risk
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6. What type of authority is defined as the authority written in
the producer's contract?
A. Implied authority
B. Apparent authority
C. Express authority
D. Inherent authority

7. Are policy loans considered taxable income?
A. Yes, always
B. No, they are not taxable
C. Only if the policy is surrendered
D. Only if the loan amount exceeds the premiums paid

8. What typically occurs when a whole life insurance policy
matures?
A. The policyholder receives the cash value immediately
B. The face amount is paid to the beneficiary
C. The premiums are refunded
D. The policyholder must renew the policy

9. Universal life insurance combines which two components?
A. Whole life and term insurance
B. 1-year renewable term and a cash value account
C. Investment account and savings account
D. Term insurance and mortgage insurance

10. What assumption is made under the common disaster
provision?
A. The primary beneficiary died before the insured
B. The insured died last
C. The insured's death order cannot be determined
D. The contingent beneficiary receives nothing
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Answers
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1. A
2. B
3. C
4. C
5. B
6. C
7. B
8. B
9. B
10. B
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Explanations
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1. In a level term policy, which of the following remains
constant throughout the term?
A. The premium and the coverage amount
B. The premium but not the coverage amount
C. The coverage amount but not the premium
D. Neither the premium nor the coverage amount

In a level term policy, both the premium and the coverage amount remain constant
throughout the term of the policy. This means that the insured pays the same premium
each period for the duration of the policy, and the death benefit, or coverage amount,
does not change.   This structure provides predictability for policyholders, as they can
budget for the same premium payments every year, and they are assured that their
beneficiaries will receive the same death benefit, regardless of how much time passes
before a claim is made.   Other options suggest variations in either the premium or the
coverage, which are not characteristics of a level term policy. In principle, if either the
premium or the coverage amount were to fluctuate during the life of the policy, it would
no longer be classified as “level” and would instead fall under different types of policies,
such as decreasing term or increasing term.

2. Which of the following is a requirement for a valid
contract?
A. Mutual discord
B. Offer and acceptance
C. Financial interest
D. Reputational trust

A valid contract requires several essential elements, and one of the most fundamental is
offer and acceptance. This means that one party presents an offer that clearly outlines
the terms and conditions, and the other party must accept that offer in its entirety. The
agreement showcases the intention of both parties to enter into a binding arrangement. 
In the context of insurance or any other type of contract, this principle ensures that both
the insurer and the insured understand and agree to the specific terms being presented.
For instance, in an insurance policy, the offer would be the terms provided by the
insurer, and acceptance occurs when the policyholder agrees to those terms, often by
signing the policy and paying the premium.  Mutual discord refers to conflict or
disagreement between parties, which is the opposite of what a valid contract requires.
Financial interest is not necessary for a contract to be valid, though it might be relevant
in certain contexts. Reputational trust may influence a party's willingness to engage in a
contract but does not constitute a legal requirement for validity. Therefore, offer and
acceptance is the critical requirement that establishes a valid contract.
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3. What will the contingent beneficiary receive if the primary
beneficiary predeceases the insured?
A. Nothing
B. Only funeral expenses
C. The policy proceeds
D. A portion of the cash value

When a primary beneficiary predeceases the insured, the contingent beneficiary is
designated to receive the policy proceeds. This is a common practice in insurance
contracts where the insured specifies a primary beneficiary who is entitled to the benefits
upon the insured's death. If the primary beneficiary is unable to collect the benefits due
to their prior death, the policy terms typically dictate that the contingent beneficiary
takes precedence.  The contingent beneficiary serves as a backup to ensure that the
proceeds are distributed according to the insured’s wishes, maintaining the intent of the
policyholder. Therefore, the contingent beneficiary is entitled to receive the full amount
of the policy proceeds if the primary beneficiary is no longer eligible to claim them,
ensuring a seamless transition of benefits.  Other options do not reflect standard
insurance practices. For instance, claiming "nothing" or "only funeral expenses" fails to
account for the explicit role and rights of the contingent beneficiary. Similarly, receiving
"a portion of the cash value" would be inaccurate because the policy proceeds are
generally paid out in full to the designated beneficiary, not as a partial amount or based
on cash value considerations after the insured's death.

4. Experience rating is primarily intended for which type of
groups?
A. Small groups
B. Non-profit organizations
C. Large groups
D. Individual policies

Experience rating is primarily intended for large groups. This method of determining
insurance premiums is based on the past claims experience of a specific group rather
than using a standard or community rating system. Large groups typically have more
extensive data regarding claims history, which allows insurers to evaluate their risk more
accurately.   In large groups, experience rating helps to establish premiums that reflect
the actual claims incurred by that particular group, incentivizing them to manage their
risks and claims effectively. Large employers or organizations may have better access to
resources for managing health and wellness, leading to potentially lower claims, which
can then lower their overall costs. This system reinforces the idea that the premiums
paid should directly correspond to the claims experience of the insured group, making it
more beneficial for large groups that can show a solid claims history.  Smaller groups or
individual policies do not usually have the volume of claims data necessary to effectively
use experience rating, as their sample sizes are not large enough to draw statistically
significant conclusions. Thus, they often rely on community ratings that aggregate risk
across a broader base.
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5. Which of the following is primarily responsible for the
cause of loss?
A. Exposure
B. Peril
C. Hazard
D. Risk

Peril is the term used in insurance to indicate the actual cause of a loss. It refers to
specific events or situations that can lead to damage or injury. For example, in a
homeowner's insurance policy, peril can include events such as fire, theft, or natural
disasters like floods or earthquakes. Understanding peril is crucial for both insurers and
policyholders; it defines the risk that is being insured against.  Other terms in the
context of insurance serve different purposes. Exposure refers to the state of being
subject to loss, which encompasses the potential for loss but does not identify a specific
cause. Hazard refers to conditions that increase the likelihood of a peril occurring, such
as living in a flood-prone area. Risk is a broader concept that encompasses both chance
of loss and potential financial impact but does not pinpoint the cause. Thus, peril is the
correct answer as it specifically identifies the cause of the loss that insurance policies
aim to cover.

6. What type of authority is defined as the authority written in
the producer's contract?
A. Implied authority
B. Apparent authority
C. Express authority
D. Inherent authority

The authority defined as the authority written in the producer's contract is known as
express authority. This type of authority is explicitly stated in the contractual agreement
between the insurance producer and the insurance company. It details the specific
rights, powers, and responsibilities that the producer has in their role, including the
ability to bind coverage, collect premiums, and perform other duties on behalf of the
insurer.   Express authority is fundamental because it establishes clear guidelines for the
conduct of the producer within the scope of their professional activities, ensuring that
both the insurance company and the producer operate within defined parameters of their
relationship. This clarity helps prevent misunderstandings and disputes regarding what
actions the producer can or cannot take while representing the insurer.   In contrast,
implied authority refers to the powers that the producer has which are not explicitly
stated but are necessary to carry out the duties spelled out in the express authority.
Apparent authority occurs when a third party perceives that the producer has authority,
based on the actions or representations made by the insurer, even if that authority is not
actually granted. Inherent authority typically refers to the authority that is naturally
associated with a position or role, regardless of specific contractual language.
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7. Are policy loans considered taxable income?
A. Yes, always
B. No, they are not taxable
C. Only if the policy is surrendered
D. Only if the loan amount exceeds the premiums paid

Policy loans are not considered taxable income as long as the life insurance policy
remains in force. When a borrower takes out a loan against the cash value of their life
insurance policy, they are essentially borrowing their own money. This transaction does
not trigger a taxable event because the policyholder is not receiving income; rather, they
are accessing their own funds.  Taxability typically arises when policies are terminated or
surrendered for cash, which may result in a gain if the cash value exceeds the total
premiums paid. However, while the policy remains active and the loan is outstanding,
there is no taxable income.  This is why the correct answer states that policy loans are
not taxable. It is important to remember that potential tax implications can arise if a
policy is surrendered or if the loan amount exceeds the total premiums paid, but simply
taking a loan does not automatically incur taxes.

8. What typically occurs when a whole life insurance policy
matures?
A. The policyholder receives the cash value immediately
B. The face amount is paid to the beneficiary
C. The premiums are refunded
D. The policyholder must renew the policy

When a whole life insurance policy matures, it typically results in the payment of the face
amount to the designated beneficiary. This feature is a fundamental characteristic of
whole life policies, which are designed to provide permanent life insurance coverage for
the lifetime of the insured as long as premiums are paid. The face amount is the sum
assured stated in the policy, and it becomes payable upon the death of the insured.   In
this context, the policy matures when the insured passes away, at which point the
insurance company fulfills its obligation by disbursing the death benefit to the
beneficiary. This ensures that the financial commitments of the policyholder are met,
providing economic protection for the beneficiary after the policyholder's death.  While
the cash value accumulation, premium refunds, or renewal terms are considerations in
other scenarios within life insurance, they do not accurately represent the typical
outcome at maturity. The cash value might be accessible while the insured is alive but
does not apply at the time of maturity in the context of death benefits. Similarly,
premiums are not refunded at maturity, nor is there a requirement for renewal, as whole
life insurance is intended to remain in force for the policyholder's lifetime.
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9. Universal life insurance combines which two components?
A. Whole life and term insurance
B. 1-year renewable term and a cash value account
C. Investment account and savings account
D. Term insurance and mortgage insurance

Universal life insurance is structured in a way that provides both a death benefit
component and a cash value component, which sets it apart from other types of life
insurance. The correct answer highlights that universal life insurance combines a
one-year renewable term insurance with a cash value account.  In this arrangement, the
policyholder is primarily purchasing a renewable term insurance policy, which means
that the coverage is based on the annual renewal of the term, and it allows for flexibility
in premium payments. This means the policyholder can adjust the amount of premium
paid, which subsequently affects the cash value that accumulates over time.  The cash
value account is integral to universal life insurance, as it grows on a tax-deferred basis
and can be accessed by the policyholder for loans or withdrawals during their lifetime.
This dual structure provides both the protection of life insurance and the potential for
savings, making universal life insurance a versatile option for individuals looking for
both insurance coverage and a way to build cash value.  Understanding this combination
of components is crucial, as it reflects the hybrid nature of universal life insurance and
how it can be tailored to meet the policyholder's financial needs over time.

10. What assumption is made under the common disaster
provision?
A. The primary beneficiary died before the insured
B. The insured died last
C. The insured's death order cannot be determined
D. The contingent beneficiary receives nothing

The common disaster provision in insurance is designed to address situations where both
the insured and the primary beneficiary die in a common event, such as an accident, and
their deaths occur within a short period of time. Under this provision, the assumption is
made that the insured individual died last.   This assumption is important because it
serves to ensure that the proceeds of the life insurance policy are paid to the contingent
beneficiary (or the estate) instead of the primary beneficiary who may have also died in
the same incident. By presuming that the insured died after the primary beneficiary, the
insurance policy can effectively stipulate that the death benefit will go to the next
designated beneficiary instead of being paid out to a beneficiary who has not survived the
insured. This helps protect the insured’s intentions regarding how their assets are
distributed after their death.  In this context, the correct answer aligns with the purpose
of the common disaster provision to facilitate clear and fair distribution of benefits when
uncertainties arise due to simultaneous deaths.
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